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Â    è    ë    ê    è    ò    è    ï    î    â    Ñ    Í    Î    5    3    ,    Ñ    Í    Î    5    4    

Ó    ñ    ë    î    â    í    î    å    î    á    î    ç    í    à    ÷    å    í    è    å    

ò    è    ï    î    ê    î    í    ñ    ò    ð    ó    ê    ö    è    è    ñ    î    å    ä    è    í    è    ò    å    ë    ÿ    

Ì    à    ñ    ñ    à    ,    ã    .    ,    

í    å    á    î    ë    å    å    
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L    L    1    A    1    

Ð    à    ç    ì    å    ð    û    ,    ì    ì    
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Ñ    Í    Î    5    4    -    6    0    /    1    0    6    •    9    Â    -    1    4    
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Ñ    Í    Î    5    3    -    4    0    /    8    1    •    9    Â    -    1    4    

Ñ    Í    Î    5    4    -    4    0    /    8    1    •    9    Â    -    1    4    

Ñ    Í    Î    5    3    -    2    0    /    5    7    •    9    Â    -    1    4    

Ñ    Í    Î    5    4    -    2    0    /    5    7    •    9    Â    -    1    4    
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Ñ    Í    Î    5    4    -    1    0    /    4    8    •    1    0    Â    -    1    4    

5    ,    9    

4    ,    5    
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6    7    ,    0    4    4    ,    0    

4    8    ,    0    2    2    ,    0    

3    3    ,    7    5    

1    5    ,    0    0    

6    0    ,    5    

4    1    ,    5    
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Ð    î    ç    å    ò    ê    è    ò    è    ï    î    â    Ñ    Í    Î    5    1    ,    Ñ    Í    Î    5    2    

Ó    ñ    ë    î    â    í    î    å    î    á    î    ç    í    à    ÷    å    í    è    å    

ò    è    ï    î    ê    î    í    ñ    ò    ð    ó    ê    ö    è    è    ñ    î    å    ä    è    í    è    ò    å    ë    ÿ    

Ì    à    ñ    ñ    à    ,    ã    .    ,    

í    å    á    î    ë    å    å    
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Ð    à    ç    ì    å    ð    û    ,    ì    ì    

A    1    

Ñ    Í    Î    5    1    -    4    0    /    7    1    •    9    Ð    -    2    

Ñ    Í    Î    5    2    -    4    0    /    7    1    •    9    Ð    -    2    
8    ,    8    1    9    7    1    ,    0    4    7    ,    5    

Ñ    Í    Î    5    1    -    3    0    /    5    9    •    9    Ð    -    2    

Ñ    Í    Î    5    2    -    3    0    /    5    9    •    9    Ð    -    2    

Ñ    Í    Î    5    1    -    2    0    /    4    6    •    9    Ð    -    2    

Ñ    Í    Î    5    2    -    2    0    /    4    6    •    9    Ð    -    2    

Ñ    Í    Î    5    1    -    1    0    /    3    4    •    9    Ð    -    2    

Ñ    Í    Î    5    2    -    1    0    /    3    4    •    9    Ð    -    2    

Ñ    Í    Î    5    1    -    4    /    2    6    •    9    Ð    -    2    *    )    

Ñ    Í    Î    5    2    -    4    /    2    6    •    9    Ð    -    2    *    )    
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2    6    ,    0    

3    5    ,    0    
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1    0    ,    0    

2    ,    5    
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2    ,    5    ±    0    ,    2    

8    ,    5    m    a    x    
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8    ,    5    m    a    x    
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1    2    ,    5    2    9    9    5    7    2    ,    5    

Ñ    Í    Î    5    3    -    4    0    /    7    0    •    9    Ð    -    2    

Ñ    Í    Î    5    4    -    4    0    /    7    0    •    9    Ð    -    2    

Ñ    Í    Î    5    3    -    2    0    /    4    5    •    9    Ð    -    2    

Ñ    Í    Î    5    4    -    2    0    /    4    5    •    9    Ð    -    2    

Ñ    Í    Î    5    3    -    8    /    3    0    •    9    Ð    -    2    

Ñ    Í    Î    5    4    -    8    /    3    0    •    9    Ð    -    2    

8    ,    7    

4    ,    8    

2    ,    7    
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4    5    
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Ñ    Í    Î    5    4    -    3    0    /    7    5    •    1    0    Ð    -    2    
9    ,    5    1    4    7    5    ,    0    5    2    ,    5    0    

Ñ    Í    Î    5    3    -    2    0    /    5    6    •    1    0    Ð    -    2    

Ñ    Í    Î    5    4    -    2    0    /    5    6    •    1    0    Ð    -    2    

Ñ    Í    Î    5    3    -    1    0    /    3    8    •    1    0    Ð    -    2    

Ñ    Í    Î    5    4    -    1    0    /    3    8    •    1    0    Ð    -    2    
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4    ,    0    
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Ð    à    ç    ì    å    ò    ê    à    ï    å    ÷    à    ò    í    î    é    ï    ë    à    ò    û    ä    ë    ÿ    ó    ñ    ò    à    í    î    â    ê    è    â    è    ë    ê    è    
ò    è    ï    à    Ñ    Í    Î    5    3    ,    Ñ    Í    Î    5    4    (    ó    ã    ë    î    â    à    ÿ    )    
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